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0.M=z2 1,500,000& * 100 &= 15,000
0. 4=z 1,500,000 x 100 B = 15,000
OM=eloy ALK& 3,000,000& 3,000
O"aIIdSEHal MHEX& 10,000,000 10,000
OXlelatd 7IHAIZ M=l &0t
40,000,000 40,000
Onza MEHSU HE 3,000,000 3,000
OZ2L2sE HEIIE = HEMsUaIN
Z 30,000,000& 30,000
OutdE = JIZHAE =2U 2 10,000,000& 10,000
308 NXIHHSOIH 30,000 30,000 0
06 WSI|IZ0CHetEx= 30,000 30,000 0
ol MEss sS4
5,000,000& = 6IH ! 30,000
401 AIEHIZ =20 10,000 0 10,000
04 SHAIZEHAIEHI 10,000 0 10,000
02009 tHEH2I= 2 MQLEUSEH(ANZE
SAHX) 10,000, 000& 10,000
HE Eadsdds K& 9,000 21,600 A 12,600
Il 4,230
< 4,770
301 Lptsazg 9,000 21,600 A 12,600
Il 4,230
& 4,770
02 Zs=zdsi= 9,000 21,600 A 12,600
OsOHEFEAIRUYL LTSS
9,000,000& 9,000
J| 4,230
= 4,770
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AN 2ot2t2 1
pal

=L S= N (SHUDB/HS)
ol PUNREE 248 (el @)
SN - FHB - S(BH) - M = shoy e HDEY
dHEH=s HESAH 29 7,000 12,000 25,000
= 6,000
= 1,000

307 elztold 7,000 12,000 25,000
= 6,000
o 1,000

02 22tda=Ex 7,000 12,000 25,000
OdENSAENASA el 2,000
= 1,000
[Ea 1,000
OAMzdeMslasd 5,000,000& 5,000
< 5,000

M HEHMSXN A XS 62,784 61,740 1,044
p) 31,392
s 31,392

307 2iz2tolA 62,784 61,740 1,044
p) 31,392
= 31,392

02 QzIAAMNEX 62,784 61,740 1,044
OMEHSX TN S 62,784,0002 62,784
Il 31,392
i 31,392

daysud 15,120 16,800 1,680
Jl 3,024
= 3,528
= 8,568

307 elztold 15,120 16,800 A1,680
Il 3,024
= 3,528
= 8,568

02 Q2IAAMNEX 15,120 16,800 1,680
Odar=suadzd 15,120,000 15,120
Il 3,024
= 3,528
= 8,568
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2AM: 2otz
M AHE NSHUE N (SHUDB/HS)
cHol: ROINSES B4 (et9l: &2
DA HB L CP(E) - HRAY - BAS Ak Soe s
MesZz Ol X2 12,240 13,600 21,360
| 6,120
= 6,120
307 QIt0IA 12,240 13,600 21,360
| 6,120
i 6,120
02 BIZHEANEZX 12,240 13,600 21,360
OMEHST2 M2 12,240,0002 12,240
I 6,120
[ 6,120
Hzd MsasXa 20,928 19,980 948
Il 10,464
= 10,464
307 gQiz2tolA 20,928 19,980 948
| 10,464
= 10,464
02 QtFAE X 20,928 19,980 948
OIERSE I E B UE S =P L
20,928,000& 20,928
I 10,464
[ 10,464
MaHssssgAA 50,000 0 50,000
& 30,000
= 20,000
307 giz2told 50,000 0 50,000
& 30,000
= 20,000
04 QIZHHAIE X 50,000 0 50,000
OZAYTXA HTE S N
50,000, 000& 50,000
< 30,000
i 20,000
M= BHRHA 6,788 0 6,788
p) 3,394
& 1,697
= 1,697
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SM: 282
B
o9l ROIHSES

_ _ HE T
SA - H L SR(SH) - HRAMY - BS 0 & 24 e HRE2
307 glz2told 6,788 0 6,788
Il 3,394
= 1,697
s 1,697
02 22X 6,788 0 6,788
OMS HI2XAL 6,788,000& 6,788
Il 3,3%
= 1,697
[ia 1,697
HEANL2S 754,231 653,205 101,026
= 140,000
= 614,231
SSHSAE2S 72,045 56,368 15,677
101 el H] 11,743 10,892 851
10 JIZH22XNSE+ 11,743 10,892 851
OsUIM=AIZEH 22
30,900 42! %80 A %23 1,978
OUUNSE L 2SH=HTY)
30,900 *62! * 53] 927
OAUHMS22IARY 30,900& 120 3,708
OdIZ=AlE 22|F Y 30,9003 140 4,326
OFx=¢ 30,9003 x26 804
201 LEHREH| 51,502 39,476 12,026
01 AR 2cldl 7,550 5,250 2,300
Ogtt=2H| 5,800
0.dZ= HEEAILE ST A22F
50,0003 * 1001 2 +53] 2,500
0.B3ANEE 24EEFE 50,000& x12& 600
0O.2UNSZ o3 600,000& 13l 600
0.HEE PR EFHE 300,000& 13l 300
0.49% AUNSE F+I UOE
50,000& * 3HA = 123 1,800
O=gtl 7,000& *521 x50 1,750
02 =224 43,952 34,226 9,726
O2223 ¢ HA 34,952
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SN 22D
My MG HSHES NV (SHLBZ/HS)
Sl HSAL2Y CREE))
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
0. AUMSH MIIoE BA++28
135,930 *12% 1,632
0.AUHST Yot RUBL4E
10,0002 %122 1,320
0.&UMSE HoZ23 6,6002 122 80
0.8J123 29,640
CHUNST 2SS HULAY X4B
2 350,008 * 54 *122 21,000
OBHENT SSH 2A0IE
20,0008 12 2,400
OHR ANFHLUAR ZEH POIHS
SR, WYL HE 400,0008 = 122 4,800
02EH IMNIH RS
20,0008 * 122 1,440
0.4+E22(AUNSY 2SZ HLIAET,
) 10,0002 %122 1,200
0.4+, 002 M2
30,0002 *37H 2+ 12 1,080
ON&ZHIS bl 9,000
0.ZBHSALRTZ2I(HILAZ, HOIE
=T HTYAIA) 3,000
043 5,002 * 400 2,000
080tE 4,008 * 250% 1,000
0.S% BHERIEE AILKXI(6)H4)
6,000, 0002 6,000
202 o1t 6,000 6,000 0
01 =UofHl 6,000 6,000 0
OJ1 2248 01H| 100, 00024 #5201 * 122 6,000
405 XHarE St 2,800 0 2,800
01 RAUSEHSH] 2,800 0 2,800
ORLIHSE 2 FIITY 2,800,002 2,800
S50 S5 2 QIS A 160, 186 146,837 3,349
101 Q24| 115,200 0 15,200
10 JAMIENS24 115,200 0 115,200
SRVES-F LN L! 115,200
0.4 A 1,700,000 * 20! » 122 40,800
0.0I0{ZZ2AF  1,400,0008 = 191 * 122 16,800
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SN 22
Hal: AXS HSES N (SHLBB/AS)
Sl HSALSY CLRE
_ _ SIEN
SA-BH.C(BH) - HRAY - B Ofl &t o il i~ o Hnz2
WEERICEED
1,600,0008 * 191 * 128 19,200
0. A& R2I (32 E)
80,0008 * 191 * 128 9,600
0.AI&ZRI(HA)  600,0008 19! « 128 7,200
0.4U2EE S 1,800,002 * 122 21,600
201 ereo| 44,986 0 44,986
01 AFR2elt] 18,000 0 8,000
OML4EE B4 U AVR2IEE 18,000
0.2l 90,0008 * 122 10,800
0.48% A2E7¢ 300,008 * 122 3,600
0.2A H4 (BH)ERE
300,008 * 122 3,600
02 B2 26,986 0 26,986
O2Ze2 2 MM 2,986
0.6H4 MARES 248,8308 + 128 2,986
OA&ZEIR XY 24,000
0.2%ZJ10 & AIERX
2,000,0008 * 122 24,000
AR MSAL2S 382,000 350,000 32,000
401 ANEHIL2HY 230,000 150,000 80,000
L 230,000 150,000 80,000
ONMSALE 22l & 24 20,000, 0002 20,000
OMFEHLAT SHEAY 40,000,000 40,000
OJASEBIE LHAIL 20,000, 0002 20,000
OMZH MES HOESZAHY
50,000,000 150,000
402 QI2EXHEOIF 150,000 150,000 0
01 SATEREE 150,000 150,000 0
OFES HOIESHAX 150,000,000% 50,000
405 THEFH S 2,000 50,000 48,000
IR EEEEET] 2,000 50,000 248,000
Odet2E2E FHITY(MEII)
2,000,000% * 1k 2,000
MSAESE(WE A A) 140,000 100,000 40,000
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AN 2ot2t2 1
pal

=X
Sl HSALSY (B9 @)
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
MSAESE(HWEAAALY) = 140,000
402 QIHXHZOIH 140,000 100,000 40,000
= 140,000
01 SIAREEE 140,000 100,000 40,000
OMT HEZ HOESE AY
140,000,000 140,000
= 140,000
ZZHSAL 2L 6,600,000 1,000,000 5,600,000
= 1,280,000
| 3,000,000
= 800,000
2 1,520,000
DHRESHSHYAY 2,000,000 1,000,000 1,000,000
=) 1,280,000
2 720,000
401 AN&HLLHE 2,000,000 1,000,000 1,000,000
2 1,280,000
2 720,000
01 A& 1,992,800 993,700 999, 100
OBL2SF2B LAY 1,992,800,00024 1,992,800
2 1,272,800
2 720,000
03 Al&=H| 7,200 6,300 900
OBHRESHATLY ALY
2,000,000,0008 * 0.36/100 7,200
2 7,200
42 MEHSIH IHAY 1,000,000 0 1,000,000
= 500,000
2 500,000
401 ANEHIL2HY 1,000,000 0 1,000,000
= 500,000
2 500,000
01 A&l 993,700 0 993,700
OLRYEHSZAZLALY 993,700,000 993,700
< 493,700
2 500,000
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0R Y [O

OB rxd ton

o e
, 0
S

Is2s

=S

|
2z

SAIE2c|

-

N (222 /M=)

SN HH G (EH) - MBAY - BYS Ak Soe s
03 AlZ=0Hd] 6,300 6,300
OERMUESNSSEI AL LU
1,000,000,000& * 0.63/100 6,300
& 6,300
DHSHEAE 3,000,000 3,000,000
| 3,000,000
401 Al&HIZ S04 3,000,000 3,000,000
Il 3,000,000
01 A&l 2,989,200 2,989,200
O=0MSsHH TEANS
2,989,200, 000& 2,989,200
Il 2,989,200
03 AlZ=0Hd] 10,800 10,800
ORVMSHEAY ZAAL 2|
3,000,000,000& * 0.36/100 10,800
| 10,800
HHs2 cl2€ 600,000 600,000
& 300,000
= 300,000
401 A 4HI=2C0HYI 600,000 600,000
& 300,000
= 300,000
01 Al&HI 596,220 596,220
OaeUx=s2 cl ALY 596,220,000& 596,220
= 296,220
i 300,000
03 AIZ=C0HHI 3,780 3,780
OA LM =2 A ALY R CHYI
600,000,000& * 0.63/100 3,780
& 3,780
ZHRTENEAIY (2o 22 /2t ) 2,600,381 1,229,191
s 614,000
& 184,000
= 1,802,381
2oL 2el 23 416,131 367,001
as 116,000
& 35,000
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AN S22t
HE: RETAONLA (ST /)
el BT Ry LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
22|29 iy 265,131
222 2d 68, 131 49,130 19,001
101 Q14| 29,025 18,664 10,361
10 JI2ZtHIZ2E2XNSEx 29,025 18,664 10,361
ORdEse8sALESHI |22 R 7,618
0.71=23 30,9003 221 x90 5,562
0.FX= 30,900& #2021 %20 1,236
0.=201H4Z3 6,798,000 *4.5/100 306
0.AHHEE 6,798,0002 *3.84/100 262
o= 6,798,000 *1.3/100 89
0.2 6,798,000%2.385/100 163
OMZT Y TNRANLAIEEEZ 502 7,618
0.0123 30,900& 221 %90 5,562
0.=X== 30,900& = 201 x 20 1,236
0.=201H3 6,798,000 x4 .5/100 306
0.M4THEEH 6,798,000 *3.84/100 262
0.2 6,798,000 x1.3/100 89
0.2 6,798,000& *2.385/100 163
OMZIEs3d 222 13,789
01232 30,900& = 121 = 255 7,880
0.FX==¢ 30,900& = 101 x 52 1,607
0.09&=224 30,900 * 52 % 1.5 2,411
0.20H2AEE=
11,898,000 = 3.75/100 447
0.)s28= 11,898,000& = 1.75/100 209
0.4t HEE = 11,898,000& * 3.84/100 457
0.=201H43 11,898,000& = 4.5/100 536
0.-olEIQUTEE
447,000& * 4.5% = 12& 242
201 LurEdy| 24,826 16, 186 8,640
01 AtR2t2id] 2,950 1,750 1,200
Ogdt+ZH| 500
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SN 23BBD
Hal: RRNRONLA (2SS /BY)
ol 2ABWBRELY (e19): @8
_ _ HE T
SA BB H(BH) - MBAY - B2 Ofl & o il i~ o HRs2
0. MEHSZY B 227
50,0008 * 1085 A 500
o3| 2,450
0. BBARET 7,00020 * 791 * 502 2,450
02 Tzl 21,876 14,436 7,440
O2ZZR2 % HA 21,276
0.2SYUD HBAFIQS
3,000 122 36
0. MEASLHBRINLALZIIZEH))
23 10,0002 * 122 1,200
0.MEHSRY TR 800,0002 122 9,600
0.MEMSTH H44+E23
50,0002 * 122 600
0.MEZXSDY M2 20,0008 * 122 240
0.ZSAYORNBBZYHIIZ
80,0002 * 128 9,600
SN EETIES L] 600
0.MEMSIY ZAAILIT 22
50,0002 * 122 600
202 01l 14,280 14,280 0
01 =Ujofb| 14,280 14,280 0
OJl= 2480l Y| 170,000 +791 ¥ 128 14,280
SAHSSHSHESES 348,000 0 348,000
= 116,000
= 35,000
2 197,000
401 ASHLLHH 348,000 0 348,000
= 116,000
= 35,000
2 197,000
01 AlZH] 348,000 0 348,000
OHARESSHENSEL 28|
348,000,00024 348,000
= 116,000
= 35,000
2 197,000
RQIAE) RIRINL AL 540,000 0 540,000
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SA
X XH .
(=

chel:

K- E3 .S (3H) - MBAY - B o gggf; HRS2
AMEH 2HZILALS g 270,000
= 81,000
o 189,000
dlAUR= MBS 540,000 540,000
g 270,000
== 81,000
iy 189,000
401 AlZHIZLE204Y] 540,000 540,000
g 270,000
== 81,000
iy 189,000
01 Al&H| 536,598 536,598
OBYLLUPEMHBAETY 536,598, 000! 536,598
rag 266,598
& 81,000
= 189,000
03 A& S 0HbI 3,402 3,402
ORAAUSEME R AT HIIEHL ]
540,000,000 = 0.63/100 3,402
e 3,402
Zot2t 2 R ONE AN 1,348,000 61,940
g 128,000
& 38,000
iy 1,182,000
At X ater 22t Al S 308,000 308,000
g 128,000
& 38,000
iy 142,000
401 AIEHIZ 204 308,000 308,000
g 128,000
= 38,000
iy 142,000
01 Al&H| 308,000 308,000
OSaZ2X] At d J|24 Al
308,000, 000& 308,000
g 128,000




2A: 232
HH: BRTANLAL (SHUBZ/BT)
Sl SRR N ALY R
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
= 38,000
i 142,000
22 T2 AL 40,000 104,660 A64,660
207 SAOHEH| 40,000 0 40,000
01 A&l 40,000 0 40,000
OZ Mo SE2AZMLAHE =
40,000, 000& 40,000
SMAEZLE HEAS 1,000,000 0 1,000,000
402 DIZHRI=0|H 1,000,000 0 1,000,000
01 UAR=2EX 1,000,000 0 1,000,000
O=ME2H HEAS 1,000,000, 000& 1,000,000
Kelotd 2h2 o0 2 A 296,250 36,000 260,250
s 100,000
= 30,000
= 166,250
Nelatd 2t ALY 211,000 0 211,000
s 100,000
= 30,000
= 81,000
308 AtXIHHMSOI& 211,000 0 211,000
s 100,000
= 30,000
2 81,000
05 XXEH2UHREES 211,000 0 211,000
OXlclatd S22 ASHE 10,000,000 10,000
= 5,000
= 1,500
i 3,500
OXlci¢d sEZ30E AHEXY
20,000,000& 20,000
Fas 10,000
= 3,000
i 7,000
OXlelatd 78701 €4 20,000, 000& 20,000
P 10,000
< 3,000
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SN 2s2E D
HE: BBTRNLA (25U BT/ 2Y)
Sl XIlAR B LAS (5l &2
_ _ MNuE o
SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 7,000
OX2lta EHIt BZ=HAL |4
70,000,0002 70,000
2 35,000
= 10,500
2 24,500
OXaltd HBILS NHNADS
20,000,0002 20,000
2 10,000
= 3,000
2 7,000
OXI2l&@ BHTOHEO 28 60,000,002 60,000
2 30,000
= 9,000
2 21,000
OXaltd BB=2E T4 11,000, 00024 11,000
NelAABBNL TS 2SS 85,250 36,000 49,250
308 XHXIEHH SOIH 85,250 36,000 49,250
05 KASHALLS 85,250 36,000 49,250
OXEIMABBHLESLLYS  85,250,0008 85,250
HPES (2B (SHLZ/23H012) 300,000 1,191,000 £891,000
TESEPE 300,000 1,191,000 £891,000
SaUETEINS B 100,000 100,000 0
702 JI2EES 100,000 100,000 0
UPIEEES] 100,000 100,000 0
ORMAEIIZHS 100,000, 00024 100,000
R PIE 200,000 300,000 A100,000
702 JI2EE2 200,000 300,000 A100,000
01 JI2HES 200,000 300,000 100,000
OHSTEINZ HE 200,000, 00024 200,000
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